A (k%) iz 24 ook EFE S
1 FHEREERT 77 6|KHE Fi5 9.65
2 Jsghigs 77 5|EAR & 9.05
3 SHY 1 ZTHIRHE S5lRkE EE 9.00
4 SHY 1 ZTHIRHE SIAR XBE 8.70
4 SHY 1 ZTHIRHE AN = 8.70
6 BRY 2 =THigs 77 AlhE BT 8.60
7 SHY 1 = TIHRIRHE S5|RF EE 8.55
8 ERERIRs 77 3|FHE BEE 8.30
9 SHY 1 ZTHIRHE 6|AlE EXE 8.25
9 BRY 2 =Ty 77 4|RIR P 8.25
11 EERRERESZ 7 3IZH BR 8.20
12 EERRERES T T 3FkE EAE 8.15
13 ERBRZES 77 (i ER 7.95
14 EEPRERI 7T 3| £ ¥ 7.90
15 ERBRES 77 PAVIN==1US 7.85

B (8%#%) Sz =4 ook EFH (S3=1
1 SHY 1 ZTHIRHE 5|RF ¥8F 8.80
2 BRY 2 =THigs 77 AlhE BT 8.75
3 BRY 2 =T gy 77 4|RIR P 8.70
4 ERBERERS 77 PAVIN=I=1US 8.60
5 ERBERERS 77 3| B 8.55
6 FHEREERT 77 6|KHE Fi5 8.50
7 SHY 1 ZTHIRHE AN = 8.45
8 SHY 1 ZTHIRHE SIAR XBE 8.40
9 ERBERERS 77 3|7%RE HEE 8.10
10 SHY 1 ZTHIRHE S5|RE EE 7.95
11 Jsghigs 77 5|EAR & 7.15
12 EERRERES T T 3| L% 6.80
12 SHY 1 ZTHIRHE 6|AkE EXE 6.80
14 EERRERES T T 3PPRE EAE 6.55
15 EERRERES T T 3IZH BR 6.45

BA(=yh) Sz =4 ook EFY (S3=1
1 Jsghigs 77 5|EAR & 9.10
2 BRY 2 =THigs 77 AlhE BT 9.05
3 BRY 2 =Ty 77 4|RIR P 8.85
3 FHEREERT 77 6|KHE Fi5 8.85
5 SHY 1 ZTHIRHE S5|RkE EE 8.30
5 SHY 1 ZTHIRHE AN = 8.30
7 SHY 1 ZTHIRHE SIAR XBE 8.15
8 ERBERERS 77 PAVIN==1US 8.10
9 SHY 1 ZTHIRHE 5|RF ¥8 8.00
10 EERRERES T 7 3| L% W 7.90
11 EEPRERI 7T KR BAE 7.70
11 EERRERES T T 3IZH BR 7.70
11 ERBRIZES 27 (i R 7.70
14 ERBRES 77 3|7%RE HEE 7.65
15 SHY 1 ZTHIRHE 6|AkE EXE 7.55




